
  

M6 Assignment
Timer0_A3 Capture Mode Example

Using CCR2 to hold captured value



  



  



  



  

Capture Mode – Every second + ACLK duration

Capture TA0R count in microseconds

ACLK duration = 30.5 uSec    (1sec/32768)

(1sec = 1,000,000uSec / 2^16 [16 bits]) = 15.2587890625
The remainder = 1,000,000 – 983,040 = 16960



  

This example includes Stdio.h.

Its use is possible because we
Add putchar(int TxByte)

We also have to Setup UART



  



  



  



  



  



  



  



  
https://rextanka.wordpress.com/2014/01/03/msp430-gcc-printf-and-serial-io/

http://www.msp430launchpad.com/2012/06/using-printf.html



  

Screen Shot include in Document
Along with code listing
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